1.	If Japan can produce either 3 automobiles or 4 computers from a given quantity of resources, and the United States, using the same resources, can produce either 4 automobiles or 5 computers, which of the following statements is true?

a.	Japan has a comparative advantage in the production of automobiles.
b.	The United States has a comparative advantage in the production of computers.
c.	The United States has a comparative advantage in the production of both goods.
d.	Japan has a comparative advantage in the production of computers.
e.	Japan has a comparative advantage in the production of both goods.

2.	If there were a fall in the price of sugar (an input used in the production of candy bars), the supply curve for candy bars would shift to the _____ , the equilibrium quantity would _____ , and the equilibrium price would _____ .

a.	left	fall	rise
b.	left	fall	fall
c.	left	rise	fall
d.	right	fall	rise
e.	right	rise	fall

3.	Total revenue will increase if price _____ when the demand curve _____ .

a.	rises	is price-elastic
b.	falls	is price-elastic
c.	rises	has unit price elasticity
d.	falls	has unit price elasticity
e.	none of the above

4.	If supply for a product is perfectly price-elastic, the supply curve is:

a.	upward sloping.
b.	horizontal.
c.	vertical.
d.	undefined.
e.	downward sloping.

5.	A tax has been levied on a product. The more price elastic the demand for that product is:

a.	the more likely it is that the tax is borne equally by consumers and sellers.
b.	the greater is the proportion of the tax borne by the producers.
c.	the greater is the revenue that is raised by the tax.
d.	the greater is the proportion of tax borne by consumers.
e.	the more likely it is that the tax will be reflected in a change in price rather than a change in quantity.

6.	What is the externality associated with purchase of preventive medical services such as an influenza innoculation?

a.	It is cheaper to pay for innoculations than for treatment of the disease.
b.	Doctors get more income because they charge for the innoculations.
c.	Innoculations reduce the likelihood of others catching the disease.
d.	Innoculations reduce sick days, allowing the individual to earn more income.
e.	Individuals sometimes suffer unpleasant side-effects from innoculations.

7.	When consumption of a good changes in the opposite direction to income, the good is referred to as:

a.	a normal good.
b.	a substitute.
c.	a complement.
d.	an inferior good.
e.	inelastic.

8.	If the price of a good decreases, the:

a.	income and substitution effects each lead to increased consumption of the good.
b.	income effect will oppose and dominate the substitution effect, so that consumption decreases.
c.	substitution effect will oppose and dominate the income effect, so that consumption increases.
d.	income and substitution effects will cancel each other out and leave the demand for the good unchanged.
e.	income and substitution effects each lead to reduced consumption of the good.

9.	Along an indifference curve, _____ is constant.

a.	total expenditure
b.	price-elasticity of demand
c.	income-elasticity of demand
d.	total utility
e.	marginal utility

11.	The marginal product of a factor of production is the:

a.	change in output divided by the change in the amount of the factor of production the firm uses.
b.	output divided by the amount of the factor of production the firm uses.
c.	firm's output divided by its total cost of production.
d.	amount of output attributable to that factor of production.
e.	change in the average output divided by the change in the amount of the factor of production the firm uses.

12.	Which of the following always falls as output increases?

a.	total cost
b.	marginal cost
c.	average cost
d.	average variable cost
e.	average fixed cost

13.	Isoquants illustrate the different:

a.	marginal costs that lead to the same total cost.
b.	combinations of inputs that lead to the same total cost.
c.	costs that yield the same output.
d.	combinations of inputs that produce the same quantity of output.
e.	outputs that require the same amounts of inputs.

14.	If a firm operating in a competitive environment faces a situation in which marginal cost is less than marginal revenue:

a.	the firm's profit will stay constant if it reduces output.
b.	the firm must be making a profit.
c.	the firm will increase profit if it increases output.
d.	the firm must be making a loss.
e.	the firm's profit will stay constant if it increases output.

15.	For a monopolist, the marginal revenue from selling one more unit equals:

a.	the price it receives from the sale of that unit.
b.	the loss in revenues from the sale of all the other units at the new lower price.
c.	the price it receives from the sale of that unit minus the loss in revenues from the sale of all other units at the new lower price.
d.	the price of the unit, less the wages paid to the worker who produces it.
e.	the price of the unit, less what it cost to produce.

1.	Suppose there is a floating exchange rate. When the central bank lowers domestic interest rates and raises the money supply, domestic assets become _____ attractive in comparison to foreign assets. As a result, the value of the domestic currency _____ in foreign exchange markets.

a.	more		rises
b.	more		falls
c.	less		rises
d.	less		falls
e.	none of the above.

2.	A consumer can take his money and purchase a typical basket of goods in his own country using his own currency. He could take the same amount of money, convert it into the currency of another country, and attempt to buy the same goods in the other country. The idea that roughly the same amount of goods could be purchased using either strategy is called:

a.	the velocity of money.
b.	the marginal propensity to consume.
c.	a floating exchange rate.
d.	the quantity theory of money.
e.	purchasing power parity.

3.	A movement along the country’s Aggregate Demand curve could be caused by ____. A shift of the country’s Aggregate Demand curve could be caused by _____.

a. 	expansionary monetary policy	expansionary fiscal policy
b.	expansionary fiscal policy		contractionary fiscal policy
c.	a change in the price level		expansionary fiscal policy
d.	expansionary monetary policy	a change in the price level
e.	none of the above.

4. 	If you see an Aggregate Supply curve that is flat at levels of output below potential output, you know that this is a _____ model where firms _____.

a.	Keynesian	adjust wages to keep workers employed
b.	Keynesian	adjust prices to maximize profits
c.	Keynesian	adjust output to meet the quantity demanded
d.	Classical	seek to use all resources as fully as possible
e.	Classical	adjust prices to preserve market share
5.	The aggregate demand curve would shift to the right if:

(i)	there is an increase in the quantity of labor available
(ii)	there is an increase in government expenditure
(iii)	there is an increase in the money supply

a.	only (i) is true.
b.	only (ii) is true.
c.	only (iii) is true.
d.	both (i) and (ii) are true.
e.	both (ii) and (iii) are true.
Planned Aggregate Expenditure
               X               Z              GDP
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6.	In the graph above, suppose the economy’s actual level of output (GDP) is shown at X. The potential level of GDP is shown as Z. In this case, the amount of additional G needed to increase equilibrium income from X to Z would be the distance from point: 

a.	(1) to (2).
b.	(2) to (5).
c.	(3) to (4).
d.	(4) to (5).
e.	(5) to (1).

7.	If all prices (including wages) were perfectly flexible, then quantity supplied would always be equal to quantity demanded, so that all of the country’s labor, capital, and natural resources would be used according to the best available technology. Eventually, prices and wages do adjust. This explains why:

a.	higher unemployment is associated with lower inflation.
b.	the aggregate demand curve is downward-sloping.
c.	the long run AS curve is vertical.
d.	the short run AS curve is upward-sloping.
e.	none of the above.

8.	When a person’s income is $100 per month, the person spends $80. When he loses his job and has $0 of income, he still manages to spend $20. Therefore his marginal propensity to consume must be:

a. 	0.8 when income was $100/month, and 0.20 when income is $0/month.
b.	0.8
c.	0.2
d.	2/3
e.	0.6

9.	From the statements below, an economist who is an activist will support statement(s) _____. An economist who is a non-activist will support statement(s) _____.

(i) Having empty factories and unemployed workers is an unnecessary waste for society.
(ii) The lags involved in undertaking economic policies to correct the economy can be long and/or unpredictable.
(iii) It is possible that attempts to “fix” the economy can make things worse. Economists (like doctors) should avoid killing their patients by treating them too much.
(iv) Firms produce only the amount of output that they believe can be sold. The government’s commitment to support (or increase) aggregate demand helps maintain high output and employment.

a.	(i) and (ii)		(iii) and (iv)
b.	(i) and (iii)		(ii) and (iv)
c.	(i) and (iv)		(ii) and (iii)
d.	(ii) and (iii)		(i) and (iv)
e.	(ii) and (iv)		(i) and (iii)

10. 	When equilibrium output is less than potential GDP, there is a _____ gap, and unemployment is _____ than the natural rate of unemployment. A country with a fixed exchange rate would use _____ to bring output closer to potential GDP.

a. 	recessionary		more		monetary
b.	recessionary		less		fiscal
c.	inflationary		more 		monetary
d.	inflationary		less		fiscal
e. 	none of the above.

11. 	Over the long run, output and income will tend to converge to ____. The force that eventually causes this to happen is:

a.	potential GDP		the central bank’s use of monetary policy to promote full-					employment.
b.	equilibrium output	interest rates adjust to set money supply equal to money 					demand.
c.	potential GDP		prices and wages rise when there is more-than-usual 					demand for products and labor, and fall when there is less-					than-usual demand for products and labor.
d.	potential GDP		firms increase output when unplanned investment is 					positive, and decrease output when unplanned investment 				is negative.
e.	zero			firms decrease output when unplanned investment is 				positive, and increase output when unplanned investment 				is negative.

12.	In the Keynesian model, the equilibrium level of output (and income) in the short term is where:

(i)	Unplanned investment is equal to zero.
(ii)	The planned aggregate expenditure line crosses the 45 degree line.
(iii)	Savings is equal to planned investment.
(iv)	Output is equal to potential GDP.

a.	only (i) is true.
b.	only (ii) is true.
c.	only (iii) is true.
d.	(i), (ii), and (iii) are all true.
e.	none of the options above (a, b, c, or d) is correct.
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13.	In the diagram above, a country’s initial AS curve is AS0. If the supply curve shifts to AS1, this could be caused by _____. If the supply curve shifts to AS2, this could be caused by _____.

(i) An increase in the level of wages.
(ii) An increase in the amount or the quality of land, labor, and capital available to use in the economy.
(iii) Expansionary fiscal policy.
(iv) Appreciation of the country’s currency in foreign exchange markets.

a.	(i)		(ii)
b.	(ii)		(iv)
c.	(iv)		(iii)
d.	(ii)		(i)
e.	(iii)		(iv)

14.	Suppose the central bank wants to maintain a fixed exchange rate between its own currency and another (foreign) currency. When the value of its own currency would otherwise fall in the foreign exchange market, the central bank must ____ its own currency. This transaction tends to make the country’s money supply _____.

a.	buy		fall
b.	buy		rise
c.	sell		fall
d.	sell 		rise
e.	none of the above.

15. 	If a country has a floating exchange rate, expansionary monetary policy will cause the value of its currency in foreign exchange markets to _____. This will make the effect of the monetary policy on equilibrium output _____.

a.	appreciate		bigger.
b.	depreciate		bigger.
c.	appreciate		smaller.
d.	depreciate		smaller.
e.	none of the above.

16. 	In the balance of payments accounting system, ____ are recorded with a “plus”. Transactions related to the purchase or sale of _____ are recorded in the Capital Account.

a.	receipts of foreign cash		assets
b.	spending of foreign cash		currently produced goods or services
c.	spending of foreign cash		assets
d.	spending of international reserve assets	currently produced goods or services
e.	receipts of foreign cash		currently produced goods or services

17.	When a country has a fixed exchange rate of its currency to some other currency, the exchange rate stays fixed by:

a.	law.
b.	making sure that imports are equal to exports.
c.	having the central bank buy (or sell) the difference between quantity demanded and quantity supplied of its currency in the foreign exchange market at the fixed rate.
d.	having the government borrow money whenever the supply of money is greater than demand.
e.	picking the correct level of import tariffs.

18.	According to the Quantity Theory of money, the velocity of money is ____. According to the Keynesian Theory of Money, the velocity of money goes ____ when interest rates are unusually low.

a.	constant		down
b.	pro-cyclical		up
c.	counter-cyclical	up
d.	a leading variable	down
e.	a lagging variable	up

19. 	Consumers in the country – who want to purchase some imported goods – want to see the domestic currency become more _____. Producers in a country who export some of their output want to see the domestic currency become more _____.

a. 	weak		strong
b.	competitive	strong
c.	weak		competitive
d.	strong		weak
e.	strong		competitive

20.	In the Keynesian model, if the consumption function is:

C = a + mpc▪(Y – T)
 
then an increase in T by $1 will cause the equilibrium level of income to:

a.	fall by $1▪(1/(1-mpc))
b.	rise by $1
c.	fall by $1
d.	rise by $1·(1/(1-mpc))
e.	none of the above.

1. OLS stands for what in Econometrics?

(a) Optimally Linearized Solution
(b) There is no such thing in Econometrics
(c) The only rock band that Econometricians are crazy about
(d) Ordinary Least Squares
(e) None of the answers above is correct

2. Of the following assumptions, which one(s) is (are) necessary to guarantee unbiasedness of the OLS estimator in a multiple linear regression context?

(a) Linearity of the model in the parameters
(b) Zero conditional mean of the error term
(c) Absence of multicollinearity
(d) Homoskedasticity of the error term
(e) Random sampling
(f) All of the above except e)
(g) All of the above except d)
(h) All of the above

3. When choosing observations from a population of interest that will be studied using
Cross-Section Econometrics, we should:

(a) Chose all the elements of the population, even if it costs e 700 billion
(b) Make sure all observations have the same probability of being chosen
(c) Select the largest (feasible) number of observations
(d) b) and c) are correct
(e) a) and b) are correct;
(f) All of the above are correct
(g) None of the above is correct

4. In a multiple linear regression, what does homoskedasticity of the error term mean?

(a) All error terms ui have the same variance across all observations i = 1; 2; :::; n
(b) The regressors have each the same variance across all random observations
i = 1; 2; :::; n
(c) Two error terms ui and uj with j 6= i have always a different variance for
i = 1; 2; :::; n
(d) The error terms ui do not have the same variance across all i = 1; 2; :::; n
(e) The regressors and the error term are linearly dependent

5. In the estimated model log (qi) = 2:25 • 0:7 log (pi) + 0.02•yi; where p is the price
and q is the demanded quantity of a certain good and y is disposable income, what
is the meaning of the coefficient on log (p)?

(a) If the price increases by 1%, the demanded quantity will be 0.007% lower on
average, ceteris paribus
(b) If the price increases by 1%, the demanded quantity will be 70% lower on
average, ceteris paribus
(c) If the price increases by 1%, the demanded quantity will be 0.7% lower on
average, ceteris paribus
(d) None of the answers above is correct

6. In the estimated model log (qi) = 2:25 • 0:7 log (pi) + 0.02•yi; where p is the price
and q is the demanded quantity of a certain good and y is disposable income (in
thousands of dollars), what is the meaning of the coefficient on y?
(a) If disposable income increases by a thousand dollars, the demanded quantity
will be 0.02% higher on average, ceteris paribus
(b) If disposable income increases by a thousand dollars, the demanded quantity
will be 0.0002% higher on average, ceteris paribus
(c) If disposable income increases by a thousand dollars, the demanded quantity
will be 2% higher on average, ceteris paribus
(d) None of the answers above is correct

7. Consider the variance-covariance matrix of the OLS estimator of a multiple linear
regression model with k regressors as well as a constant. What is the maximum
number of different elements in this matrix? (Hint: the matrix is symmetric)

(a) (k + 1)2
(b) k2
(c) (k + 1)•(k + 2)/2
(d) None of the above

8. In a multiple linear regression model, if we know that E[ui|xi] = 0 we also know
that:
(a) E[ui] = 0
(b) V ar(ui) = 0
(c) V ar(ui) = σ2i
(d) V ar(ui) = σ2
(e) Both a) and b) above
(f) Both a) and c) above
(g) Both a) and d) above

9. Take an observed (that is, estimated) 95% confidence interval for a parameter
of a multiple linear regression. If you increase the confidence level to 99% then,
necessarily:
(a) The length of the confidence interval decreases
(b) The length of the confidence interval remains unchanged
(c) The length of the confidence interval increases
(d) None of the answers above is correct

To answer questions 10 through 13 consider the following estimated model (by
OLS), where return is the total return of holding a firm´s stock during one year, dkr
is the firm’s debt to capital ratio, eps denotes earnings per share, netinc denotes net
income and salary denotes total compensation, in millions of dollars, for the CEO
(estimated standard errors of the parameters in parentheses below the estimates).
The model was estimated using data on n = 142 firms.


returni = -- 12.3 + 0.32• dkri + 0.043• epsi + 0.005• netinci + 0.0035• salaryi
	       (6.89)      (0.150)                 (0.078)                      (0.0047)                      (0.0022)

n = 142 R2 = 0.0395

10. What can you say about the estimated coefficient of the variable salary? (consider
a one-sided alternative for testing significance of the parameters and use the Normal
approximation)
(a) For each additional million dollars in the wage of the CEO, return is predicted
to increase by 0.0035, on average, ceteris paribus. But it is not statistically
significant at a 5% level of significance.
(b) For each additional million dollars in the wage of the CEO, return is predicted
to decrease by 0.0035, on average, ceteris paribus. And it is statistically significant at a 5% level of significance.
(c) For each additional million dollars in the wage of the CEO, return is predicted to increase by 0.0035, on average, ceteris paribus. And it is statistically
significant at a 1% level of significance.
(d) It is statistically significant at a 5% level of significance but it is not significant
at 1% level of significance.


13. What can you say about the coefficient on dkr (consider a one-sided alternative for
testing significance of the parameters and use the Normal approximation)

(a) It is statistically significant at a 5% level of significance and also significant at
1% level of significance
(b) It is statistically significant at 1% level of significance
(c) It is statistically significant at a 1% level of significance but it is not significant
at 5% level significance
(d) It is statistically significant at a 5% level significance but it is not significant
at 1% level of significance
(e) None of the answers above is correct

15. We estimate the model Wagei = 370.25 + 20.43•Educi + 13.87•Hoursi by OLS,
where Wage is the monthly of a worker measured in euros, Educ measures the
number of years of schooling and Hours is the number of hours worked per day.
Suppose the R2 of this regression is 0.37, and that the number of observations was
n = 150. What can you conclude?

(a) 55.5% (= 0.37*150) of the total variation in wages is explained by the proposed
model
(b) 37% of the total variation in wages is explained by the proposed model
(c) The R2 has to be greater than 1 for the regression to be profitable
(d) b) and c) are correct
(e) None of the above

16. Consider the simple linear regression model for cross-sectional data y = β0 + β1•x + u.
If E[u] = 0 and x and u are independent, this implies:

(a) E[u|x] = 0
(b) x and u are uncorrelated
(c) E[u|x2] = 0
(d) Both b) and c) above are correct
(e) Both a) and c) above are correct
(f) Both a) and b) as well as c) above are correct

17. Of the definitions below, which best describes the property "Unbiasedness of the
OLS estimators"?

(a) The average of the OLS estimates across a big number of samples equals the
true parameter value
(b) The distribution of the OLS estimators has small mass for values far away
from the true parameter value
(c) The average of the OLS estimates across an infinite number of samples equals
the true parameter value
(d) The distribution of the OLS estimators has a mean very close to the true
parameter value
(e) None of the above descriptions describes properly "Unbiasedness of the OLS
estimators"

18. In testing multiple exclusion restrictions in the multiple regression model under the
Classical assumptions, we are more likely to reject the null that some coefficients
are zero if:

(a) The Residuals sum of squares of the restricted model is large relative to that
of the unrestricted model
(b) The Residuals sum of squares of the restricted model is small relative to that
of the unrestricted model
(c) The total sum of squares, SST, is large
(d) The intercept parameter is greater than the significance level
(e) Both a) and d) above
(f) Both c) and d) above

19. Consider a multiple linear regression model verifying the Gauss-Markov assumptions. The OLS estimators have a low sampling variance if:

(a) The total sum of squares of each regressor is low
(b) The total sum of squares of each regressor is high
(c) The variance of the error term is high
(d) The variance of the error term is low
(e) The regressors are highly correlated in the sample
(f) a) and c) above
(g) b) and d) above
(h) b, d) and e) above
(i) a), d) and e) above

1. In the competitive widget industry, the demand is q = 100 • p and the supply is q = p • 40. What is the deadweight loss if the government imposes a tax of 20 per widget?
2. 
(a) 200
(b) 500
(c) 100
(d) 400

2. You have $9 and preferences given by u(w) = square-root (w). Which of the following options is most attractive?

(a) Get a free lottery ticket that has a 1 in 3 chance of winning $91
(b) Pay $5 for a lottery ticket that has a 50-50 chance of winning $21
(c) Do nothing
(d) Pay all your money ($9) for a lottery ticket that has a 1 in 4 chance of winning $100

3. A monopolist faces inverse demand p = 190 • 5q and zero costs. What is the profit-maximizing level of output?

(a) 29
(b) 10
(c) 19
(d) 9.50

4. Emmon is the sole supplier of Fanta in Santa Barbara. Inverse demand for Fanta is given by p = 120•2q and each Fanta costs 20 to import. Because Emmon is psychic, he practices 1st degree (perfect) price discrimination. How much Fanta does he provide?

(a) 80 bottles
(b) 40 bottles
(c) 50 bottles
(d) 100 bottles

5. Two coffee shops compete as Cournot duopolists. The inverse demand for coffee is p = 2•Q, where Q is total amount produced by the two shops. Each shop has the same cost function c(q) = 2•q2. What is total equilibrium output?

(a) 4/7
(b) 4/9
(c) 3/8
(d) 6/15

6. An exchange economy has two consumers, named Jimmy and Sue, and two commodities, apples and bananas. Jimmy's initial endowment is 2 units of apples and 4 unit of bananas. Sue's initial endowment is 4 apples and 4 units of bananas. Jimmy's utility function over apples and bananas is U(AJ ;BJ ) = A1/2J •B1/2J . Sue's utility function is of the form U(AS;BS) = AS + BS, where AJ and BJ are the amounts of apples and bananas for Jimmy and AS and BS are amounts of apples and bananas for Sue.
The equation of the contract curve in terms of Jimmy's coordinates is:

(a) BJ = AJ
(b) BJ = AJ/2
(c) BJ = 2•AJ
(d) BJ = 8AJ/(1+AJ)

7. (continued from the previous question) In equilibrium, apples and bananas have the same price. Jimmy's consumption bundle must be:

(a) 4 apples and 2 bananas
(b) 2 apples and 4 bananas
(c) 3 apples and 3 bananas
(d) 4 apples and 4 bananas

8. Ariel produces aluminum cubes, facing costs of C(A) = A2/10 , where A is the number of cubes produced, and selling them on the competitive market for $30. Bjorn grows beets next to Ariel's factory, facing costs of C(B) = 5B + B2/100 + A2/20 , where B is the number of beets produced, and selling them for $15 on the competitive market. Because aluminum pollution is harmful to beet production, the town council decides to impose a tax on aluminum cubes. If the socially optimal production levels are A*= 100 and B* = 500, what is the tax (per aluminum cube) that would induce efficiency? 

(a) $30
(b) $15
(c) $10
(d) $25

9. Xavier makes xylophones next to Yasmin's yak farm. Xavier's profit function is 
πx(x) = 40x -- x2 and Yasmin's profits function is πy(y) = 50y -- y2 -- xy. The loud noise from xylophone production interferes with the yak breeding. There is no law against making noise (i.e. Xavier has the right to make noise), so Yasmin offers to pay Xavier to cut back on his xylophone production. How many xylophones will Xavier end up making after this negotiation?

(a) 4
(b) 10
(c) 20
(d) 15

10. The dollar value of fish caught from Lake Spooky is given by f(b) = 100b -- 5b2, where b is the number of fishing boats. Fishing boats are costless to buy and operate. What is the optimal tax that the Department of Fish Affairs should impose on fishing boats, so as to avoid the Tragedy of the Commons?

(a) $0 per boat
(b) $50 per boat
(c) $1 per boat
(d) $100 per boat

11. Fortuna, California has 500 people. Every year a _reworks show is held. Each resident of Fortuna is willing to pay $4 for fireworks. If the cost of providing the fireworks (f) is c(f) = 2f2, what is the Pareto Efficient amount of fireworks?

(a) 2000
(b) 1000
(c) 1500
(d) 500

12. Three people play the following game. Each person is given $10 and must privately choose an amount x to contribute to the group `pot'. The total money in the pot is doubled and distributed equally among all the people in the group. What is the Pareto efficient outcome?

(a) Each person contributes x = 0
(b) Each person contributes x = 3
(c) Each person contributes x = 10
(d) Each person contributes x = 5

13. In the Keynesian IS-LM model, an increase in government spending is _______ policy, and the effect would be shown as a __________.

a. Expansionary fiscal		shift of LM to the right
b. Expansionary monetary	shift of IS to the left
c. Expansionary fiscal		shift of IS to the right
d. Contractionary fiscal		shift of IS to the left
e. Expansionary monetary	shift of IS to the right

14. In the Keynesian IS-LM model, expansionary monetary policy is shown as a _____, and would be shown in the AS-AD diagram as a _____. 

a. Shift of LM to the left		shift of AS to the left
b. Shift of IS to the right		shift of AD to the left
c. Shift of LM to the right	shift of AS to the right
d. Shift of LM to the right	shift of AD to the right
e. Shift of IS to the left		shift of AD to the left

15. In the Keynesian IS-LM model, the use of expansionary fiscal policy should cause interest rates to _____. This can result in “crowding out” of _____.

a. Rise		investment
b. Fall		government expenditure
c. Rise		net exports (if exchange rates are fixed)
d. Fall		consumption
e. [bookmark: _GoBack]None of the above.
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